
I llilllti fil ililf iiff lllfll lilll lllil llllt illl ltft
K22U 0179

Name :

vr semester B.corn. Degree (cBCls=suppre./!mprov.)
Exarninatlcn, Aprit 2AZz
(201 6_201 g Admissions)

Core Course
6815 COM : MANAGEMENT ACCOUNT| NG

Time : 3 Hours
i-tlax. lvlarks : 40

PART _ A
l' Answer arf questions. Each carries vz mark.

1) 100 - Operating profit ratio =

Reg. No. :

4) CVP analysis is the core application of

2) --..-..-.--..- is atsq known ,. J*ffi,n.
3) ln PV ratio, ,p'and ,V,stands 

for and

PART _ B
ll. ,Anst;er any four questions. Each carries one mark.

5) Define financial analysis.
6) What is ,profit graph, ?
7) What is Zero Base Budget ?
8) Give any two rimitations of cash Frow statement.
9) List out structural ratios.

10) What is calendar variance ?

(4xYz=21

$x1-4)
PART _ C

lll. Answer any six questions (not exceeding one page). Each carriesthree marks.
.1 1) Exprain the benefits of financiar anarysis and interpretation.
12) Differentiate between marginal costing and traditional absorption costing.13) Brief the limitations of raiio analvsis.
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0179 .2. 
l/'///fituil//il/ilfr1tfilft/,t/tf/iltilf/fl. 14) Fxplain the types of standards.lS) The sales rrrn ou*r rnl'follows : cost of sales duri

year ' 
"ofa^ 

,a 
uqrED ullrfng the two periocis were aS

2017 18 tifijff' Frofit (Rs.)

2018-1e 1,6;,;;; 1s,ooo

Calculate I p/\t ,,^il'l' 20,000
sales urut r:ry Fatro. sar

16) Stanouro 
*t" t,ao,ooo]*'es to earn a profit of Rs' 40,000 and profit when

ot ns J:ril:C+:1"#iii:"-"J: 
l:l'i'20 kss A skndard priceusing Zg(

variancesl' ^nt of materiars at a .;.;;;Jjo11.^"_d during the period bvis. 24.960. CatIrrrt" urlJrlul17) prepare 
a Comparative Balance Sheet from

31_3_ rorr'nr 
foilowing data :

Equty share capitar (Rs. in rar<nt 
,,iJ. ililll,

Fixer, assets 50 
so

Reserves and surprus 72 
60rnvestrnents 1p

Long iernr roan 10 i o

Current assets 30 B

current liabirities 21 32

r 8) Net income ,Jlll-.., n h +L - 11 30

and deprer,r;,L:tud.on the income statement for 6

ano c,osiriil:ffiJJt;;::?fl; .fr: il:?',fi'"'l.'=r_was Rs, i 0, 0o0
are as folows. t assets a#i,rtT,?,Ii 44..000. The

ities acco;;.,#ti:"#

Cash

Debtors

lnventories

Prepaid expenses

Ctosing
bafance (Rs.)

1,30,000

2,a0,000
2,90,000

Opening
balance (Rs.;

1,40,a00

1,80,000

3,00,000

i 6,000
.',16.00c

Accounts payabie 15,000

calculate cash frorn n^o"^n,^_ 
1'02,000

rm operating activrties.

(6x3=18)
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PART _ D

iV. Answer any two questions. Each carries eighi marks.

19) The raiios relating tc Franco Ltd' are given as fcllo'uvs :

Gi'oss profit ratio . i1"i"
Stockvelocity :6months
Average collection period : 3 months

Creditor'svelocitY :3months
Gross prof it for the yea.r' ending Dec. 31 .2Q19 amounts to Rs. 60,000. Closing
stock is equal to oPening stock.

Find out :

a) Sales

b) Closing stock

c) Sundry debtors

d) Sundry creditors.

20) A company is expecting to have Rs. 32,000 cash in hand on 01 .04.2020
and it requests you to prepare cash budget for the three months-April to
June 2A20. The following information is supplied to you :

Month Sales (Rs.) Purchases (Rs.) Wages (Rs.) Expenses (Rs.)

February 70,000 44,000 6,000 5,000

Irlarch 80.000 56,000 9,000 6,000

April 96,000 60,000 9,000 7,000

May 1,00.000 68,000 i 1,000 9,000

June 1,20,000 62,000 14,000 9,000

Other Information :

a) Period of credit allowed by suppliers is two months

b) 23% of sales is for cash and the period of credit allowed to customers
for credit sales is one month

c) Delay in payment of wages and expenses one month

d) Income tax Rs. 28,000 is to be paid in June 2020'

2ii A) Construct a simple break even charl with necessary labels from the
following data :

Sales 7,000 units @ Rs. 10 each'

Fixed cost : Rs. 20,000

Variable cost : Rs. 6 per unit.

B) Calculate BEP and Margin of Safety from the above data. (2x8=16


